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Excellence in 2000.  The Center faculty, graduate students, and visitors pursue a broad 
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side (financial institutions) and the demand side (households and institutional 
investors). Emphasis is placed on the challenges created for both sides by the 
globalization and innovations of the financial markets, especially for the economies of 
pre-accession States as they move towards harmonization with European Union.  
 

The work of the Center is divided in five major areas. The first deals with 
enterprise wide risk management and the development of both innovative 
methodologies and decision support tools. The second deals with the saving and 
borrowing behavior of households and their portfolio choices. The third deals with 
empirical studies of capital markets and the information they reveal for the prediction of 
bankruptcy events and the management of credit risk. The fourth deals with real 
options, their valuation, and their use in coping with an uncertain world. The fifth deals 
with issues surrounding the performance of financial institutions in delivering quality 
services. 
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